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3 (8em''2) £NG

20 14

ENGLISH

( General )

FuU Marks : 40

Time : 2 hours

The figures in the rriargin^^^idicate juU marks
for the questions

[ English (Major) students shall answer
Question Nos. 1, 2, 3 and 6, other

students shall answer Question Nos. 1 to 5 ]

1. Write the substance of Dawn at Purl by
Jayanta Mahapatra. .

Or

Critically examine Soyinka's treatment of
racism in Telephone Conversation.

Or

Attempt a critical appreciation of Margaret
Atwood's This is a Photograph of Me.

i4A—83*/1545 ( Turn Over )



.

( 2 )

2. Give, after Seamus Heaney, a brief
description of the young girl's punishment. 10

Or

Give a description of the solitary reaper's
song. How does it affect the poet?

Or

Critically assess Blake's treatment of the
idea of innocence in The Lamb.

3. Answer any two of the following : 5x2=10

(a) Write a short note on Langston Hughes.

(b) What do "white-clad widowed women..."
signify in the poem, Dawn at Pun?

(c) How does Blake describe the lamb?

(d) Give a short description of the Speaker
of the poem. Telephone Conversation.

4'. Answer the following a-S directed (any fiue) .
1x5=5

(a) Edmund Hillary and Tenzing Norgay
were first to conquer Everest in

-  year 1953.

( Fill with appropriate deterininers )

14A—83*/1545 ( Continued )

(b) It was

( 3 )

event that surprised
scientific world.

( Fill with appropriate determiners )

(c) Everything has gone wrong today, ?

(Add a tag question )

(d) You are coming to school, ?

( Add a tag question )

(e) We can gain nothing without labour.

( Change into active voice )

(f) You are requested to keep the book on
the table.

( Change into active voice )

(g) He will not hurt you.

( Change into passive voice )

5. Change the form of narration (any ftue) : 1x5=5

(a) I asked him if he would like to see the

picture.

(b) The General ordered the soldiers to
march on.

(c) The man asked if he could speak to
•  Mr. Bordoloi.

14A--83*/1545 ( Turn Over )



( 4 )

(d) He said to me, "Are you ill?" I replied,
"No."

(e) The father asked his son to bring him
the book.

ff) The teacher said to the student,
"Leave this room at once."

6  For EngUsh (Major) students in Ueu of
Question Nos. 4 and S. Answer any one : 10

(a) Write a critical appreciation of Lorca's
77ie Sieepu^o^^^^'W BalUui

(b) How does memoiy play a significant
role in Postcard from Kashmir?

***

14A—83*/1545 3 (Sem-2) ENG

3 (Sem-2) ALT ENG

20 14

ALTERNATIVE ENGLISH

Full Marks : 60

Time : 2V2 hours

The figures in the margin indicate full marks
'  ■ for the questions

1x7=71. Answer the following questions :

(a) "A little water clears us of this deed."

Who said this? ' r

(b) What is the tliird prophecy made by the
■  witches ' in their first meeting with
'^Macbeth?

(c) Where, does Lady Macbeth die?

(d) How much money does Nora borrow
from iKrogstad? i'

(e) What dress does Helirier want Nora to
- wear, for the Stenborgs' fancy dress

party?

(f) 'That's hoW he bought his bride."

How does Nana Phadnavis buy his
seventh bride?

(g) What was Gh^shiram's title before he
became the KotWal of Poona?

14A—6000/1545A ( ̂rn Over )



,.d ( 2 )

2. Answer any four of the following questions :
2x4=8

(a) "I have done the deed"

(i) Who is the speaker?

(ii) What does the word 'deed' refer to
here?

(b) How\ does Macd^ kill Macbeth' despite
the prophecy that 'none of woman bom
shall harm Macbeth'?

(c) "I too haver something to be proud and
happy about."
What is that 'something' Nora so
proudly reveals to her friend
Mrs. Linde?

fd) Describe briefly the circumstances that
compel Mrs. Linde to leave Krogstad
and many a wealthy man.

fe) What does Ghashiram do to help Nana
when he hurts his ankle?

3. Explain, with reference to the.context, any
three of the following • 5x3=15

(a) Out, damned spot! out I say!—One; two
: why then,

'tis time to do 't. HeU ,is murky! Fie,
my lord, fLe!

a soldier, and afeared? What need we fear
who knows it, when none can call our power

y to account? Yet who would have thought
the old man to have so much blood in him?

14A^000/1543A ( Continued )

i 3 )

(b) We will proceed no further in this business :

0 I He hath honoured me of late; and

I have bought
Golden opinions from all sorts of people.
Which would be wom now in then-

newest gloss.
Not cast aside so soon.

(c) That .trusted home
i' . . - L t i ' t ̂  ■

Might yet unkindle you unto^the, crown.
Besides the thane of Cawdor.

1  But't is strange :
And oftentimes, toy^ us to our harm.
The instruments of darkness tell us truths.
Win us with honest trifles, to betray's
In deepest consequence.

(d) Just think how a man with a thing like
that on his conscience always be
having to Ue and^ cheat and dissfemble;
he can never drbp the mask, not even
with his own wife and children. And the

children—that's the most terrible part of
it," Nora.

(e) That I don't believe any more. I believe
that first and foremost I am an

individual, just as much as you are—or
. at least I'm going to try to be. I know
most people agree with you, Torvald,
and that's also what it says in books.
But I'm not content an3miore with what
most people say, or with what it says in
books. I have to think things out for
myself, and get things clear.

14A~6000/1545A ( Turri Over )



( 4 )

4. Answer any three of the following questions :
10x3=30

(a) Write a note on the rise and fall of
Ghashiram Kotwal's fortune.

(b) Discuss Ghashiram Kotwal as a satire
on the corrupt practices of the
eighteenth century Brahmanical society
of Pune.'

(c) Write a note on the theme of the play,
A DolVs House.

(d) Give a character analysis of Nora
Helmer.

(e) "It has been said that Ibsen's strength
Ues in his portrayal of character and in
his depiction of human relationships."
Discuss with special reference to
A Doll's House.

(f) Trace the coiirse of degeneration in
Macbeth after his first crime. How is it
that Macbeth continues to be a tragic
hero in spite of this deterioration in
character?

(g) Draw a character sketch of Lady
Macbeth.

★ ★ ★

14A—60G0/1545A 3 (Sem-2) ALT ENG

3 (Sem-2) ASM MIL

2 0 14

ASSAMESE

( Modem Indian Language )

Full Marks : 60

Time : 2V2 hours .

The figures in the margin indicate full marks
for the questions '

(^) CTO ? .

(9r) .

(^) Tflir ?

(«) ^ 1" cm

G3^ CefRS^ ^5n9|<qc»?wi

(•5) ^ ̂ cmm
cm^i

(^) cmcs cmm cms ̂  ̂

14A—55V1519 ( Turn Over )



.  (2 )

^1 ^X8=V

(^) ^91^ \»Sli>l<f

(^)

(•Jf) , c • ivl ^

(^) (R^tR'Tsfr

oi 2TO-"3i?rf^ ¥*r^ IMt (1^ c=^ra FoRt^i^i):

(^) i£^ ̂  (Tfi^- "^<pc«iic^ ^ij^Rt»f
^snOT^f^i'

(^) ^lv5C^ (Tiifr <p\^o=1,
voRH ^ v<p;i^
^-<f5|^ «?fTf% tfsf-^sf-^FIW ̂ tlFR *l>Roil I

(5f) ...-. "^p'RR R^H
l^viH <M<>vo ^ ̂Icvoc"!
>j<^>f^<) • <PlC<PI PlR<ll«1 RPnf^ ;

^f#coT^ sn^ sn^
^flf^^vS 4»|<|»v5^ ̂  RRoiR^ I

(^^r) >jK>jM v5%^ "^l^hiR
^ I

(®) ^ %OTfT C^ ^ R^'W
®iicR «iic^ ̂

14A—55*/1519 ( Continued )

( 3 )

8 I (^) ^«JRF5 *IWtR ̂  "SimZTRR

^tolHl W 1 ^o

WW

(^) ^^3% "s^ms W I

(t I (^) '^^vfjsT cgi^ ^R3[ ^ 9iTnf1%
^ICoilMl I >o

(^) 'HRWWI'R vjIC^W SRlf^ ̂ »FR "5^
w I

^ I (^) ̂ #Rr (trrr 1% <pRR«n
cvs^ 1% *rff% Rflpf, R^ • bo

wr

('f) ^spg^cf ̂  7!T<RR SCT^teT
»£iR >i>l|(:qilb»^| ^ I

★ ★ ★

14A—55*/1519 3 (Sem-2) ASM MIL



3 (Sem-2) BEN MIL

2 0 14

BENGALI

( Modem Indian Language )

Full Marks : 60

Time : 2Vi hours

\

The figures in the margin indicate full jmrks
for the questions

;  VX<1=<1

('«r) fl?f ... R^cvsi

l"

(«) 1^ « (?mm%?

14A—^2000/1550 ( Turn Over )



{ 2 ) /

(^) c^*pT "viiiBiw?! (Tfn c^«?rRi ̂  ?

(i)

(;^)

(«)

(8) t^sqi^
^V8<jly C^ CoTC^)

(^) ^1%^,
1% C9f^' ?" *C5lf^' W5

C<1I<WIW!

^ I W : ^^5<8=v

(^) "^>jv»ji3i \5I^ <?r%5^ ̂  l" <£m^
*wm' C^?

W  <7#Rsm CTO c^ c^sm ^sfnm
^ ̂?" ̂  c^? w ̂ra*i 1^
-♦WdfiH ?

(^) **^5!T5n^ C5id5^ ^ <?ni^
^ I" 'cm'

wwiwi

W ' (OTim ^ w ^51^^
^i" ̂  c^? TO

14A--2000/1550 ( Continued )

( 3 )

O 1 CT-C4M R>»iib 2Ri?I^ if[v8 : 4X\!)=i^

v£r^ #t ? 4iRR
^ "WOT al^Qh^i ̂  TOf^, cm\ I

(^) 9t^ ^4^1^ il|>BlW<1 ^5(f^if¥lTO«f

(^) sTTOm If#? C5n«id^ c^
Rwfcl, 'vol«rai^»l' TOTO5? TO TO I

(^) <?i% ^
i1^1*Sr ^ a-^l^<^ ^<?\ #t ■%! ̂  C51C^ I

(«) W3i OT
1^ I" ^ c^-2m
"^fltT a®f^ "TO I

8 I PluPiR^ TO : ^ox>o=\so

(^) *C# ^»FIJ1TO "teiaa
TOT I

1^, 1^, SldW^iT 'SIT, ^Q
'c# ^a=TiTcaa
•<fi^3jj cron^T ^ ̂ic«iii>'ii asd?T ottt^ i

14A—2000/1550 ( Turn Over )



( 4 )

(^) 'c#
^^1%? ^ICOIID^I I

Tsmf

2f^ ^^59if^, c^
^  ̂iPfoR^r 1 *ii6c^

^  2R^, ^
*C# I" >1i|lC<»ilbC<J>5j ^srS^ ^Sj^cf-

'C^ Cbt^^' ̂^FRUCT^ •ilW'Qcf Rd|<? I

(^) " ^ ^ 21^% "^sn^ ca^i^«n^
' £1^1" TpnMbm ^P3^ ^'#5T %m

I

*^5m^' ̂  ̂soi^ci

iffesm^^fRT w I

★ ★ ★

14A—2000/1550 3 (Sem-2) BEN MIL

3 (Sem-2) HIN (MIL)

20 14

HINDI

( Modem Indian Lsuiguage )

( Hindi Katha Sahitya )

Full Marks : 60

Time : 2V2 hours

The figures in the margin indicate full marks
for the questions

1. ̂  ^ "3^ : 1x7=7

(^) ^ ̂ w «n?

(T3) d^dKIM ^ Pl4dl ̂  ̂ ^
«IT?

(^) "git ^ flTT l| 304% W ^
%t| ̂  %?" ̂  1%W 45«R %?

(^) 40 3TO^ 414 W 41?

(^) "g^, WT ̂  % irm FT ̂  4-414^
4^1" %n 4J5I «ff?

(^) 4)^l'fichK 3Rjl4 40 4FIT ̂  130 4T?

(^) 45T4M 4ft i%^ ■S14>R % 4>^Pft401 % ^4 ^ 40^
40^ t?

\

14A—4000/1576 ( Turn Over )



( 2 )

2. ̂ 2x4=8

(^) WR srai 37^ Bm bt^ 4^
srrsilTti" -jR^ 45T B^ ̂  ̂ti^i

j

(^) TRTT ^ 4^, ̂ eTRR
3TT^ ̂  «ft?

(B) ^ 3Bl^-3Tq^ 4?t ^

3^ t bjt bkb

BT?

(b) TP^ TIBB % BK B5^-BB# % ̂
fcr%iT|

3. B5RTB ̂ ZTPSBT : 5x3=15

(Bi) sflBlt Bit ̂  ̂ 1^ I^Rpft 3rf^
3B^ B^ STfllBJ 3#B ̂  Bit 31B^ ̂  ̂

elMcfl tl

3T81BT

1^ ̂BBTB ̂  t, BT^ ̂  ^ ̂
BT5cft tl BPTBT ■% 3BB7r ^ "teFaf ^
B>*ft BTT^ B BBBTl

(^) — BIB "t! WR BJ^tTI^ ^ ^ B%-B%
BM 3||^ 3Ic^ % 1%Bit BK BBT |3B Bf^
I^ciHi (fl^acii ^tBT... !

14A--4000/1576 ( Continued )

{ 3 )

3T8l^

BT^ BT?B ^ BToTBi Bit "BlB ^ 33T i^lBTl
^BBJR-^BB5R BR ^ tol sfk 3^ ̂
^BT cTBT ^ BB BBB ̂ BR 1^BTI

(B) ^ SncBT 3TTB2 sfti SPA
Stf^art Bit Bt^ ^ B5R ^BBR ^§T I BTTBB

^ B^ ^1

3TBIBT

BB^ W ̂  BT ^ BiBIbI^ Ib Btl 3TB
^-%BT sff 3Rt^ BTct B5?BR
3TB^-3TB^ BBB% BBR BP^ cl'fl I

4. ^ BlilBtch iMwsif BBTIBT ^if^l 10

3T«IBT

3tBBTB t 33Pft BBFBSrt ^
^tl^l

5. 'bTBT#' BJ?Fft ^ BiBTB^ ^ B^ ̂  \h\k^\ 10

3?«IBT

BTfPft-BRH ^ ̂  '%b' Bi?Fft ^ B^ft^ ^ti^l

14A-^—4000/1576 . c i( Turn Over )



( 4 )

6. WK ̂

3T«raT

ipRh^ ^ 3R5^ ̂ tf^i

10

★ ★ ★

14A—4000/1576 3 (Sem-2) HIN (MIL)

3 (Sein-2) BOD MIL

2 0 14

I-

BODO

( Modem Indian Language )

Full Marks : 60

Time : 2V^ hours

The figures in the margm mdicate fuJH marks
for the questions

Answ^ in Bodo

1. iigrara ^ MM M
f: . 1x7=7

' . • f . ' . ' ■ I ' . . 4

(^) -feo %o-3n ytmhr?

(^) 35if^ «iraR

(^) TIT strstpir

(ij) TRT iHRRT iR ^mngsni?

14A—8000/1548 •  '( Turn Over )

y



( 2 )

2. : 2x4=8

(^) ̂ dKiHi TFsnf^ "^fkar WRfkk?

(^) ^dfelPi ^l<%«^i Hi«Jiiq ^<yi<l?

{^) kkrakr in ^ ieRRi^ ̂^T)n?

(^) ^ nrnpr ^ ̂»ikr cnm «i^nT^
3TRt innt 3TiyKdklH)w?

3. ni^wicf wmfe-wRn irkTsmrf^ to :
5x3=15

W  Tiwf^ 3n«^, toFHPT ̂ nvk# toi

(^) sn ^Rra^rto^ PiRf^ to

toi

(^) hnRviii in^ ̂ ? tot^fRT in in?

(^) TO nwiR^^ %to^?

(^) 4M^ww torinto ntow toi

4. #: kfk 1# ira^ton

J4»NNN tol

TO to tor kftorar
toi^ toro toi

10

14A--8000/1548 ^ Continued )

( 3 )

5. totoft ̂ n^niTOf to 'toitn' ̂ nnngsnto l^toto
i^i 10

toto to toitoton to intott to ffzto
tot ̂R?T toto tonto toi

6. snfsn in# ̂ ? «ntot tof^ to to I lo

liSfT

Tll^NN tô -^STRn Tltoft TOT? to :

(^) ̂ N?Mi ^5nnR

(^) tokft ttorft nto

(it) ^^nnr snT# tin

(^) snfto^ ̂  tot to#

★ ★ ★

14A—8000/X548 3 (Sem-2) BOD MIL



3 (Sem-2) NEP MIL

20 14

NEPALI

( Modem Indian Language )

FuU Marks : 60

Time : 2% hours

TTie figures in the margin indicate fidl marks
for the questions

1* :

(^)

(T) ^

(^) 3qTin^ ̂

(^)

(^) qm..." M itl

(^) W qqsnw 3raq % 1^?

1x7=7

2. ^ 1^5^ • 2x4=8

(q») ^ ^

14A—1400/1521 ( Turn Over )



( 2 )

«<l<W q>«i^ "^?

(T) JJ^ ̂  ^ %-% #?

(^) "srra^ ;5Ri# — w ̂
^  ̂ ^?t#T *1^

3. ̂  tftsi 3R^ "3^ 1^5^ : 5x3=15

{^) Wl^ ̂!ins!R :

*icil| TRfi^fe I ^Mi|T
%i^^nTT Mic^'^ sTc'?^ 1^'"

arsrar

«»>C1«t>t1WI <^«n ^ I et}KU| XJ^
TT ebd<*>Tll T

(i) TTPTT

(U) ^ M

^  c4,^dl| T ̂  ^?

(^) ^o Tjft^

(^) 3T«raT

14A—1400/1521 ^ Continued )

( 3 )

4. (^) Rregflr^ 1^5pjr

3T«raT

«*>Plxrii<^l

(^) cR^' l^*>llrMch

3T«raT

^RT T Rkm-"^ m1Vc|<<

^ aiRT -p^ltl ^HN+l TR^(T)
aTR^f arl^ Ti^ ̂

^  ̂ 3*R»R 'iRR' 3M-MWcb|
armRRT

3T«mT

★ ★ ★

10

10

10

WR "^cIR rWi^
"dMlj^ OT?i# ̂ 5RT 1^ f^? ̂iRft R
3<HRd RT R i^l" WmRiT 3RRRRT
RRf R^gt^l

14A—1400/1521 3 (Sem-2) NEP MIL



3 (Sem-2) ASM L

}■ r>'
2 0 14

ELECTIVE ASSAMESE

Full Marks : 60

Time : 2 V^ hours

The figures in the margin indicate full marks
for the questions

(^) £f^
?

('^r)

(9r) ^ T5RR R^voH^ 1% % ?

(^) C=te9Rift Wfter ^^^1 ̂ 51^ ^

(«) cTO v»m ̂  ̂  ?

(■5) ^ ̂-c^nfl^r ^ ̂  I

(^ C^pHcw WINPS

14A—10*71518 ( Turn Over )



(2)

I  l^rTT : ■^x8=b-

1^? : .

(^) 2i\fs ^s\m ^ tim ^9ti5 Rd-R^
^RT I

(9f) ^o ^i<i»R)C?i
v»T51^ R\©i«r»i <pRcs^ 1% 1% ?

(^) voRT 71"^ I

*0 1 1^ C<Pl(.*ll fofiUl 2RR %?fT : <txvo=^<j

(^) ^ri-^R^m<p i% ^9|^ Rvsi«3f*j
^  (7ft ^9l^ 2ft|H *INT
^5TRP 1% i%, D^^<p ftp'JT I

W  ̂ ^ ftsiH Rd»R^
^CSI^ <P*^1 I

('f) \5|^ l^v©<^vs 1% % V»R|<> ^nSfR C5f[^ ^ 7
'sPlftkT ^5RR ^SRJRT ^ 1% ^9T% v5i^

^l]5fft Rrfi I

W  «R?5 SRRi^ Rdif% *14Ti^Ml

(«) '^spfihiT 2f<H c^ w 1%
■p^l^gft 1^ I

14A—10V1518 ( Continued )

I 3 )

8 I (^)
v»RIR^1%I^5R >6iR)Vivg> ^ «lR »£ft ^-
^R^MdiJH Rm ̂  1

(^) ^wnShi ̂  ̂«RR «RK^m ^i%?i ̂
v£ii5T 1^ W 1

<i I (^) 3^ v»H^?i ^ ̂5RR -PRT c^«R?:®r Rwf ̂
^R ^piWi «Rft ^3 3Ra^®r ^Rc^
^ICellbHl ^ I

(^) i% 2f?n^T ^-3Rto
(7ft i% ^571^M
«RPs C3Rr RR, ^l(:«1lb4T ̂  I

^ I (^) ^FfSRi^ ^3«Rr (7n?rR3%IT ^3^»RR
^R^olf^ Rd*!^ ^
W5jfR5TT ^ I

^sfiiim

(^f) '^>i^VT ^5RK *Rr^R'—^ Rto ^ ̂IRR
1

★ ★

i>o

^O

bo

14A—10*/1518 3 (Sem-2) ASM L



3 (Sem-2) HIN L

2 0 14

HINDI (ELECTIVE)

( Bharatiya KaVya^astra )

Full Marks : 60

Time : 2^^ hoiirs

The figures in the margin indicate ftiU marks
for the questions

1. ^rf^l P 10

3T«raT

^ 315(5 5iT

2. ^ ^ TO

^  ̂ 10

arsrar

Wcfhi ^ ^ 3RFRT , r

3. ^ % 3iT5 5^1 t? m

^ET%H 10

3T«I^

t? aflr
1^IWP ̂  ̂

14A-—1200/1575 ( Turn Over )



( 2 )

§oIqcriI*^fl I

5. Rnldfi^d aid'cbid ̂  Wrrf^ :

3jfclRFitfTf)|

2+2=4

2+2=4

6. Rni^fed ̂  3R^ % : 5x3=25

(js) ^
(Tf) 'imgj' 3^eid>l<i ^ ̂f|?T 3?;^ ̂

^tf^l

(jf) 3^ 0'<sl ^ Rl^d 3^;^
ihwji ̂

(s) 3^54r ̂

7. Pnl^n^d rot % ?jaf -srm ̂  ̂  :

(^) '^arflrJR^or' % ^ f?

(^) 3TeT^ ̂  vidi^<ui

(4) ^ ̂ ̂ 3R^ ̂tf^i

(^) ^ ̂  w-w t?

(^) '3qx||%' 37ei^ ̂

'^n25RW' 37M^ ̂  Ti?f I?

(^) *Tit t ^ ̂SR ^3qf^ ̂  3TO t?

1x7=7

★ ★ ★

3 (Sem-2) NEP L

20 14

NEPALI ELECTIVE

JRuZi Marks '. 60

Time : 2 V4! hours

The figures in the margin indicate fiiU marks
for the questions

1. 1x7=7

(^) cbi^dldjl i^Rldl ̂  _

(^) ̂  Ji^Mdlel ^FtRSIR ̂  itl

(n) ̂  chf^dRI % 'W en^ ̂
*il«M

(^) ̂  -^ft^RF ch^dld^ T532T ^Fl^ TO

(^) TFTW TO5T c»>i^dld^ RR

14A—1200/1575 3 (Sem-2) HIN L

(^) 3THSFRRFt 31^ % Igt?

(^) <*)Pld|ct>[ ̂  ̂

14A—500/1520 ( Turn Over )



.  ( 2 )

SS, iislw 2x4=8

(^) ^MdHchl W^ T W "Rrat?

(13) ̂  wn% STTOt ^JSTsf
^-ehWdll STTIIH 'iW ̂ ?

(tt) cbi^dWI "5^ *n^ ^TTT^ ̂ ?

(w) 3Pn2i! qwr^ % ̂f|F®?

3. ̂  ̂ 3rR^ ̂  i 5^3=15

(^) 'ifctBRT# ^ chl^ldHI %-^>^
^ ^?

(^) ̂  ̂wiy^K ̂ dlcflchl ̂  1^5^|

(t) d>Rld|ch) ipf

(^) di^dldc) 'l? mP3* ̂  -di^dll %
-  . «i5r dl'^chi |;^?

(^) .'ilnidlti? ctjiqchl t^HHi v^dcbO^T

4. tfrr 3R^ ̂tTC :

(^) ̂  JibMeild

14A—500/1520

10x3=30

W 3Iff^

( Continued j

\  < 3 )

(n) «bPldWI %-^F^ ozjtfj 4^
"=»"Th *1

(^) ̂  ̂ *4dcr -Rdlf
^NWlRld % ̂

131^^

(^) ̂  ^3dldch1 d)lPld> 3(^

(^) ^i^dldil STRTTW ^PCJTdT^

★ ★ ★

14A—-500/1520 3 (Sem-2) NEP L



3 (Sem-2) GGY
I

2 0 14

geography

( General )

Full Marks: 60

Time : 2V^ hours

The figures in the margin indieate full marks
for the questions i

Answer either in English or ifi Assamese

1. Answer the following questions/Choose the
correct answer : 1^7=7

(a) What is soil?

(b) What is ecosystem?

(c) Which one of the following is not an
important element of weather?

(i) Amount of cloud

14A--3500/1580 ( Turn Over )



( 2 )

(ii) Wind velocity

(in) Fog and mist

(iv) Solar radiation

(d) Write the names of two trees found in
tropical rain forest of Assam.

<r#5i^cn^ cw 1^ cron ^
I

(^) Which one of the following gases is the
most important for all life-forms?

?  l i"

(i) Nitrogen

(ii) Oxygen

(Hi) Ozone

(iv) Carbon

14A—3500/.1580 ( Continued)

( 3 )

(f) The outermost layer of the atmosphere,
exosphere lies between

exosphere

(i) 30 km to 60 km

30 1%f^S-60 -^s

(U) 400 km to 1000 km

400 1%t^s-lOOO 1^S

(Hi) 1000 km to 2000 km

1000 1%f^g-2000 1^2

(iv) 600 km to 1200 ion

600 1^g-l200 1^2

(g) What is humus?

i^t5vil^-snc5Tl%?

2. Answer the following questions : 2x4=8

(a) Distinguish between alluvial soil and
laterite soil.

^  "Sim

9^\

(b) Name the various heat zones of the earth
surface.

14A—3500/158O (Turnover)

J



( 4 ) ( 5 )

(c) Distinguish between weather and
climate.

-sn^ -pni#! %!rr i

(d) Write briefly the component of
ecosystem.

3. Write short notes on any three of the
following : 5x3=15

c<p)c*<l 1^1^ :

(a) Soil erosion

(b) Puhction of ecosystem

(c) Mountain biome

(d) Factors affecting soil formation

(e) Zoo^Geography

14A—3500/1580 ( Continued )

4. Describe the nature and scope of soil
geography. 5+5=10

?RT I

5. What is soil profile? Explain each soil profile
with the help of appropriate diagram. 2+8=10

^Rc.w>R<Pi R ? aRc&T

Or/

Explain briefly the mechanism and
characteristics of monsoon with reference to
India. 10

■5^1^ ^IHIT I

6. Give a general classification of different soils
found in the world with emphasis on its
characteristics and location. 10

RRvs RR^ ^^3^

Or /

What is pressure? Explain elaborately the
pressure belts of the world. 2+8=10
m R? iRIR RR^ Rw Rwsi^

★★★

14A—3500/1580 3 (Sem-2) GGY
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2 0 14

POLITICAL SCIENCE
I

( General )

( Political Thebry—Tl )

Full Marks : 60

Time : 2^2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or imAssamese

1. Answer the following as directed : 1x7=7

^551^ fern

;  - ' 'V ' *

(a) Who is the author of the book, The
Political Economy of Growths

The Political Economy of Growth

C^?

14A—45*/1524 ( Turn Over )

I



( 2 )

(b) Who is the author of the book,
Hind Swaraj?

Hind Swaraj ?

Write True or False :

(?T '

(c) The Republic was written by Plato.

The Republic ^Tff^
I

(d) Recall is a method of indirect
democracy.

I

Choose ̂the correct answer :

a# :

■  ' • V J - ■' ■ ■ ■
(e) The book. Capitalism, Socialism

and Democracy was written by
Schumpeter in 1943/1944/1945

Capitalism, Socialism and Democracy
3?^ 1943/1944/1945 -R®

I

14A—45«/1524 ( Continued j

i 3 )

(f) Mao Tse-tung established socialism
in China in 1950/ 1949/1962.

Mao Tse-tung (31
1950/1949/1962^3^1

(g) Communist Manifesto was written
by Lenin/Marx/Gandhi.

Communist Manifesto af^^T
c5rf^/^/9nft(3i I

2. Write very ^hort answers (any four) :
2x4=8

(1a C^RRTFll^) :

(a) Write two features of moral values
in politics.

2npna"^feii*fc 1®iaT i

(b) Write two merits of democracy.

^  1^ i

14A—45*/1524 ( Turri Over )



I 4 ) ( 5 )

(c) Write two limitations of the elitist
theory of democracy.

(d) What do you mean by human
development?

"stR^ WT 1% ̂  ?

(e) What is 'Agenda 21*?

'Agenda 2l''5n^t%?

(f) What do you mean by picketing?

3. Write short notes on (any three) : 5x3=1$;

^ C&m (ft ftftSf) r

(a) Development and democracy

(b) Methods of direct democracy

14A—45*71524 ( Continued )il

(c) Concept of Swaraj

(d) Classical democracy

(ej Socialist model of development

(f) Trusteeship

4. Answer the following questions : 10x3=30

vacrtvs (ij^i :

(a) Discuss the pluralist theory of

democracy. What are its merits
and demerits?

W I

^ %nW5T ftRT I

14A—45*71524 ( Turn Over )



( 6 )

Or/

Write the Marxist view on

democracy. What are its merits
and demerits?

ShrRwr i

(b) Discuss the liberal perspective on
development.

W I

Or/^J^

What are the alternative views on

development?

(c) What are the conditions necessary
for the successful working of
democracy?

"SfpFolH ^vsfW 1% 1% ?

14A—45*/1524 ( Continued )

( 7 )

Or/

What are the salient features of

liberal democracy?

★ ★ ★

14A—45*/1524 3 (Sem-2) PSC



3 (Sem-2) EDN

2 0 14

EDUCATION

( General )

( Educational Pisychology )

Full Marks : 60

Time : 2V2 ho\irs

The figures in the mar^n indicate Jutt marks
for the questions

Answer either in English or in Assamese

1. Answer the foilowing in one word or
sentence: 1x7=7

v55i^ :

(a) Mention the name of a psychologist.

(b) How are ̂ introspection' and 'observation'
related with educational psychology?

(c) Name one factor of memory.

^  m I

(d) Mention one determinant or cause of
attention.

14A—52*/1554 ( Turn Over )



( 2 )

(e) From which language has the word
^instinct' been derived?

'Instinct' C<pM WR ?

(f) Write the name of the person associated
with the conditioning theory of learning.

v5^ ̂ 51^ ^

1^1

(g) Who was the propounder of two-factor
theory of intelligence?

2. Write very short answer : 2x4=8

(a) Why is educational psychology called
applied psychology?

C^RT"^?

(b) Write educational significance of law of
effect.

%IT I

(c) Write two s3miptoms of good memory.

l^'IT I

(d) Write two points of difference between
emotion and instinct.

^5iRp ^ #RT I

14A—52*/l554 ( Continued )

( 3 )

3. Write short notes on/Answer (any three) :
5x3=15

"5^ (i^ C<P1C-<I •

(a) Scope of educational psychology

(b) Trial and error method of learning

(c) Nature of intelligence

(d) Adler's trait theory of personality

t£|\S»fR^

(e) What is forgetting? Mention three causes
of forgetting.

1% ? R-^Rxt ^ I

Answer any three from Question Nos. 4 to 9 :
10x3=30

4  a*R 9 ̂  1^ srr %t :

4. What is educational psychology? How can a
teacher use educational psychology in solving
classroom problem? 4+6=10

1xp^-^rc5#WT 1%? wni 1*iwp
i*i^->iwiRw4 R»itC4

14A—52*71554 ( Turn Over )



( 4 )

5. What is operant conditioning? How it may be
helpful in the field of education? 4+6=10

6. Define memory. Explain the types of memory.

2+8=10

"R?!! I Rl^fi I

7. What do you understand by modification of
instinct? Discuss different ways by which
instincts can be modified. 2+8=10

^Pic<!l 1% -Rj 1% -pfWO ^
^snc^fTRT I

8. Discuss Carl Jung and Sheldon's
classification of personality. 5+5=10
^lof xsn^ C^5fv5^ Gii^lRvSrSFPpp

I

9. Explain any two theories of intelligence.

5+5=10

★ ★ ★

14A—52*/1554 3 (Sem-2) EDN

3 (Sem-2) ECO

Of

? O 14

ECONO^C^
( Gener^ )

\  :i'Z

(Introductory Macroeconomics j

Full Marks: 60
-  • ■'■■ 'vi-

Time : 2V2 hours

The figures in the margin indicate fidl marks
for the quesj^ns

Answer either in Bngji^h or.fix Assamese
0:1 V*1. Answer^ the. following (questions :

vsei^ :

1x7=7

(a) Give the definition of gross national
'  product. ' i '

^T|l?r i '

(b) 5^at is disposable personal income?V

^" - 'if* ■ - >
(c) What is cost-push inflation?.

(d) State the ' ̂ fundariieritaL Kw of
consumptioh gts %iven by Keynes.

1

14A~14*/1553 ( Turn Over )



( 2 )

■

(e) Mention one assumption of the classical
theory of employment.

f

(f) What is aggregate supply function?

(?IT^ ^ ^

(g) What is average propensity to consume?
5t^ 21^®!^ ?

2. Answer the foUo^^g questions 2x4=8

(a) Mention ̂ two fAbtors which affect the
propensity to consume.

^ I

'  , . t; . ■ .1.

(i>) What is marginal efficiency of capital?
wof 1% ? j.,.,

(c)' Mention two limitations of Keynes'
liquidity preference theory pf interest.

C^'\b<\ vsmi ^
I  -

(d) Can motion promote economic
developnient oif a country?

(?PT4- .>5fQlt^R)*P VtoJjfsV!)

14A—14V15S3 ('^Continued )

{ 3 )

3. Answer any three of the following questions :
^  ̂ 5x3=15

vS^l^lW 2RPT^ K R)RpW TO :

(a) What are the components of aggregate
demand function? 3/1

i. ...y ' '

(b) Explain the concept of liqjiidi^ preference.

(c) Discuss the monetary measures to
control inflation.

(d) Distinguish between autonomous
investment and induced investment.

(e) Explain the relationship between
national ihcomei arid economic welfare.

4. Answer any three of the following questions :
10x3=30

IW "TO :

(a) State and explain Say's law of markets.
What were Keynes' objections to the
classical theory? 5+5

C<pVlCb <pRc^?

14A—14*/1553 ( Turn Over )



(^ i

(b) What is investment multiplier? Explain its
working. 3+7

Wf=1^ WJTT ̂  I

(c) How is net national income calculated?
What are the difficulties in its
measurement? 5+5

I  ' * T' * f ' ' ^

,  9rcpqT ̂  ̂

^ 9r«Rr <pc'^ic^ 1% 1% ̂ 5r^«n?

(d) Discuss the effects of inflation on
production and distribution. jq

\5n^ v3<>r^ ̂  spsrr

(e) Explain Keynes' tfiebiy of employment. jq

(f) What is meant by the, investment
function? Explain the factors which affect
the level of investment. 2+8

"W 1%? RRiiim

•  C^C«1RI I . ,

★ ★ ★

14A—14*/1553 3 (Sem-2) ECO

3 (Sem-2) HIS

2 0 14

HISTORY

( General )

( Early Assam up to 1228 )

Full Marks: 60

Time: 2V2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1, Answer the following in 1 word or sentence :

""Rf 4T 4IW51%^ :

1x7=7

(a) Who was the author of Raghuvamshd?

c^?

ft>) Who was the founder of the Varman

dynasty?

cw^srri^?

(c) Write the name of the ambassador sent

by Bhaskara Varman to the court of

Harshavardhana.

4l*4i?>|N»1^6r| \5I^

I

14A—8000/1578 ( Turn Over )



( 2 )

(d) During whose reign was the capital of
ancient Assam located

Kamarupanagara?

^5n%f?

(e) Who issued the Puspabhadra copper
grant?

(f) Who was the last ruler of the Pala

dynasty?

7

(g) In which year did the first Muslim
invasion take place in Kamarupa?

2. Write in brief on the following :

\55|^ "5^ 1^ :
2x4=8

(a) Dubi copper plate as a source of ancient
Assam histoiy

(b) Extent of the Kamarupa kingdom
during the reign of Bhaskara Varman

v5t^ ^l^<»lerlv5

14A—8000/1578 ( Continued)

( 3 )

(c) Village administration of ancient Assam

<3^ ̂5P1^ ̂ V3 2|*IFR

(d) War weapons used in ancient time in
Assam

3. Write short notes on any three of the
following : 5x3=15

v55=l^ C^^TCRT FsPiuN ^ Wl'^Pl 1^1% :

(a) Marriage system in ancient Assam

spR

(b) Nidhanpur copper plate

voiaRiPr

(c) Samudravarman

(d) Accounts of Hiuen Tsang on Kamarupa

(e) Indrapala

14A—8000/1578 ( Turn Over )



( 4 )

4. Answer any three of the following questions :

10x3=30

^ C^ICTi :

(a) Examine the literary sources of ancient
Assam.

%?(T I

(b) Discuss the social condition of the
people of ancient Assam.

*35^ R<JC^ '^IHIbWI
I

(c) Estimate the character and
achievements of Bhaskara Varman.

(d) Sketch briefly the reign of
Haij aravarman.

"5^ %!fr I

(e) Write what you know about the central

administration of ancient Assam.

1^ I

(f) Give an account of the first

Muhammadan invasion of Kamarupa.

21^ V3||vfp»jcf^ I

★ ★★

14A—8000/1578 3 (Sem-2) HIS

3 (Sem-2) PHL

2 0 14

PHILOSOPHY

( General )

( Logic—)
V

Full Marks: 60

Time: 2V2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese>

1. Answer the following : 1x7=7
vosrjv® :

(a) What is the other name of shorter truth
table method?

•5^ 7^^ x5li»RiR tsfsi ̂  1% ?
fbj pvq

-P

q

What is the name of this rule?

l^iTSR^R "RK1% ?

(c) Give one example of a prepositional
function.

^  I ' ■

(d) —^Name the sjnnbol.

14A—15*/1555 : (TUm Over)



( 2 )
\

(e) How many types of induction proper are
there?

(f) Give one example of scientific induction.

(g) Who first introduced the word
'Quantification?

wi5T cw^

2. Write short notes on : 2x4=8

(a) Inductive leap

^9fSRrW w

(b) Prepositional functidn

(c) Singular proposition

(d) Scientific induction
^9p}5T

3. Answer any three of the following : ̂  5x3=15

(a) Symbolise the following singular
propositions : 1x5=5

\55p5 R?IT ^ :

(i) Bimal is honest.

14A—15*/1555 ( Continued )

( 3 )

(it) Mina is beautiful.

(ui) Either Mina is good or Bimal is
good.

^ %n Rsh I

(iv) Socrates is a philosopher.

OCifpfDo 1 -.. ,r

(v) Russell is wise.

(b) What is the difference between
proposition^ logic and predicative
logic? 5

voc^R'eaiM V0<^R«3l«i5

■Rp'JT I

(c) state the characteristics of observation. 5
^ I,,

(d) Distinguish between individual and
property. 5

m  ̂ 5^1^ -sn^

I

(e) S3nnbolise the following senteiices by
using quantifier : 1x5=5

^5®!^ ^ifRsnw

(i) Some men are honest.

14A—15*/1555 ( Turn Over)
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(ii) Everything is momentary.

(iii) All things ̂ e temporary.

J1<pceil ̂  ̂ ̂̂1^ I

(iv) Some snakes are poisonous.

R<JI^ I

(v) Some mangoes are not sweet.

^5|pr I -

4. What are the rules of inference and rules of

replacement for constructing formal proof of
validity? 5+5=10

^

Or /

Construct formal proof of validity : 5+5=10

^sjsjSfpT 2l^®r tfrfi' :

(a) 1; z^y

2. zv [x- w)

3. "y-v f.'.x

(b) 1. (t/3r).(Sz)ie)

2. QdP

3. {UvQ) {Sv'0) f.-.TvP

14A--15V1555 ( Continued )

( 5 )

5. Explain shorter truth table method with an

example. 10

^  V51p|<p| ^ICOIIDH I

Qr/^m

What is analogy? What is the difference
between good analogy and bad analogy?

2+8=10

^-ni'j"|j^<sq<p ̂ 5j^[5rR^ iii'aTvs PPfT I

6. "Observation and experiment differ orily in
degree not in kind." Discuss briefly.

^ i" 15^ ^ 1

Or/ wr

What is quantification? Discuss A, E, I, O
proposition by means of quantifiers.

<5picoi 1% A, E, I, O

★ ★★

10

14A—15*71555 3 (Sem-2) PHL



3 (Sem-2) MAT

2 0 14

MATHEMATICS .

( General )

( Abi^tract Algebra and Matrices )

Full Marks : 60

Time : 2V^ hours

The figures in the margin indicate full marks
/  for the questions

Answer either in English or in Assamese

Part—I

( Objective-type questions )

1. Answer the following questions : 1x7=7

(a) What is the order of the identity element
of a group? /

(b) Give an example of a hoh-commutative
ring with unity.

(a) Define a ring with zero divisor.

^5RR itw 1»r^T I

14A—4500/1556 ( Turn Over )



{ 2 )

(d) Write true or false of the following
statement :

"A non-zero finite integral domain is
a field."

"^<1^ 71% ^ ̂

fej If

(/)

A =

2-1 .1^

-1 3 4

1 x0

is a matrix such that A A', then find
the value of x.

r 2 -1 1^

%A=: -1 3 4

X ̂ TO TOT I

cSn«1W<llJM A = A'

Choose the correct answer :

If A is a square matrix, then A + A' is a
^ A v<i^ c%iW, A + A'
(i) unit. matrix /
(ii) skew-symmetric matrix

C%|W

(Hi) symmetric matrix /

(iv) diagonal matrix /

14A—4500/1556 ( Continued )

I 3 )

(g) If A is a non-zero column matrix and B is
a non-zero row matrix, then what is the
rank of the matrix AB?

% A v£ii5T C%l^ ̂  B ̂
CS^ AB

1^TO?

Part—II

( Very short answer-type questions )

2. Answer the following questions : 2x4=8

vs«l^ TOT :

(a) Jf Hr is SL subgroup of a group G, then
prove that

TO G ̂ H «£r5T aro-TOT (?T

Ha= Hb <=» ab'^ e H, V a, be G

(b) Let G be a group and /: G —> G be a
homomorphism. Prove that

TO G TO /:G-»G ̂
I sRT^r TOT (?r

/(^~M = [/W^^ ^ e G
(c) If B is a ring such that = a, V ae B,

then show that a + a = 0, V ae

% ̂ B ̂ =0, V a e B,
C^a + a = 0, VaeB.

(d) Prove that (AO"'= where A is a
n X n non-singular matrix.

OT®T TOT (?T (AO^^ = A ̂^BT n x n

14A—4500/1556 ( Turn Over )
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Part—III

( Short answer-type questions )

3. Answer any three questions : 5x3=15

(a) Define centre of a group and prove that it
is a subgroup of the group. 5

^  SfsiT^t ̂ RT (31 X

(b) Define a permutation. Express the
following permutatibn as a product of
disjoint cycles. Is this permutation even?

"f^NT I ^

I ̂  ^'3R?T ?

M 2 3 4 5 6 7 8 9 "I
.2 4 6 1 5 3 9 8 rj

(c) Define an isomorphism from a group G
to another group G'. A function
/: R"*" is defined ' as

/(x) = jc2, V xeR"*" is the set of aU
positive real numbers). Show that / is an
isomorphism. 1+4=5
^ G-^ ̂  G' I ̂

/:R"^ ->R+ ̂  ^

/(x) = x2, V xeR-^ (TlT^n^
I  (?r$sgT Gi f ̂  I

14A—4500/1556 y Continued )

(d)

M =

C 5 )

Define a field. Let

Xi+ lyi X2 + il/2

-(x2-ii/2) x^-iyi
j •*^l> X2y Ifly ̂ 2 S R I

Show that the ring R with irieSpect to
matrix addition and multiplication is not
a field. 1+4=5

(3r c^cq<p'!q>^ SJ^RT
R  1

(e): If A is a matrix such that lAj^tO, then
show that Adj Adj A = IA ^ ̂  ^

A ̂  |A|?tO, cm (Tfjsgt (31
Adj Adj A = 1A r " A.

Part—IV

Answer either (a) and (b) or (c) and (d) firom each of
the following questions : 10x3=30
^55R af^ sm 'HI (a) ̂  (b) (c) 'sn^ ^

4. (a) Prove that the union of two subgroups of
a group is a subgroup of the group if and
only if one is a subset of the other. 5

^irSt riR >j|6i "swSh

(b) Let G be a group and g e G be a fixed
element. A function (():G-~» G is defined
as (j)(jc) = gxg V X G G. Prove that (j) is a
homomorphism. Also finci j^gj. (j). 4+1=5

14A—4500/1556 ^ '( Turn Over )



( 6 )

G  g 6 G C^ I
(|>:G —> G ?F ̂ sjc-iTC^ ■T\'03|<1'^ ^

<Mjc) = gxg'^y V X e G. OT«r W (?I (j) A
I ker ({> ^ 1^®!^ <P^i I

'  (c) Let H be a subgroup of a group G. Prove
that any two right cosets of H in G are
either identical or disjoint. 5
G  H I 2PIH ^ CT G
H ^ (TIT T|^pT\^ ^•T\C<ii^ I

(d) Define a homomorphism firom a group to
^ another group. Prove that a
homomorphism f :G-^G\ where G and
G' are two groups, is one-one if and only
if ker / = {e}, e is the identity element of
the group G. 1+4=5

I 2n?T®r (?f f :G —> G'y G
"511^ G' ^ 7T^, ^ ̂
ker / = {e}, e G^ (SM i

5. [a) Define a ring. In the set of integers Z two
binary operations © and ©are defined as
follows ;

I  ̂sr^TQ Z ^ ̂
Sff^RlT © \5n^ o "4 ■^n'SSI (jT^li C^CS?. Xsef® Rill

a® b - a + b + l ao b=^ a + b + ab, y Oy be Z
prove that ©, ©) forms a ring. 1+5=6
2RT4 C4 ^ ©^ o) iijiSr <pc*l I

14A—4500/1556 (.Continued )

( 7 )

(b) In a ring i?, prove that '
(i) xO = 0 = Ox, y xeR
(u) {-x)y = -xy = x{-y), yx^yeR

R ̂  OTcr ^ (71

(i) x0=0=0x, yxeR •
(ii) (- x)y = -xy = x(- y)y y x^yeR

2+2=4

Prove that a ring i? is a commutative ring
if and only if

{x + y)^ ^x^+2xy + y^, y XyyeR ^
(?i 4tBt ^ ̂

{x + y)^:=x^ +2xy + y'^y y x^yeR

(d) Define an integral domain. Prove that a
field is an integral domain. Give an
example of an infinite integral domain
which is not a field. 1+3+1=5

12rsn«r w (tt
^ I v£|^ ^5I%[ ^

IS

6. (a) If A is any n x n matrix, prove that
(AdjA)A = A(Adj A) = |A|/„, where
the n X n identity matrix.
A^nxn OTn ̂  (TT

(Adj A)A = A(Adj A) = lAj /„
/n "^nxn C^<=iW I
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(b) Define rank of a matrix. Find the rank of

^1 1 1 -r

A= 1 2 3 4

3 4 5 2

^1 1 1 -1

2+3=5

A = 1 2 3

3 4 5

c4inj I

(c) For the matrix

' I

A= 0

-2

-2 3^

-1 4

2  1

1-1find Adj A and hence find A
'  . . r 1 -2 3^

C^«i<P'8? A = 0 -14

-2 2 1^

1^®(^ -sht a~ ̂ I

4+1=5

^ ̂ 1^ Adj A

(d) Solve by matrix method :

■'i'lFlR ̂  :

x+2y+z-l
x+y+2z=9

.  2x+y-z=2
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1. Write whether true or false.

■^ToJ I

a) Learning is aielatively permanent change in
behaviour.

b) Partial a complete loss of memory is called
Agnosta.

Encoding is the final stage of memory.c)

d)

e)

A drive is a state of tension or arousal
produced by a need.
csi^ ^

W(2J^ I
The abilily to recall fix)m our memory is called
forgetting.
vsrrsrK ^ ^

1x7-7



(2)
f) Immitation and modeling are also called

observational learning.
\5rt^ ̂ 5ltPf*f

^ The Rorchack Inkblot test is not a protective
test.

I

2. Answer in 2 or 3 lines.

^ ̂ ■R)R*ll^vo l^r^rf i
a) What is trial and error learning.

^PlCoi 1% ?
b) Define learning.

c) What is forgetting.
1% iW I

Define personality.d)

2x4=8

3. Write short notes on any 3 ofthe following:

a) Generalisation and discrimination.

b) Reinforcement

c) Short term memory

5x3=15

d) Biogenic motives
^srmi

(3)
e) Introvert vs. Extrovert

^511^ I

4. Answer any three fix)m the following.

a) Discuss the common factors affieling learning
with example.

10x3=30

b)

c)

What are different methods of measuring
memory? Give examples.

Discuss the nature and process of classical
conditioning with the help ofexperiment done
by Ivan Pavlov.

d) Define motivation. What is the significance of
motivation in human life?
^5lj%C^f6Jp4 Rill j

e) Discuss the trait and type approaches of
peisonaHly by giving siutableexamplevriieiever
necessary.

81^

f) Giveaneatdiagramoflheneedhierarchynodel
as given by Sigmund Freud.
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